Rounding Numbers

Rounding Numbers

l1a. Which number is the odd one out
when rounded to the nearest million and
rovnded to the nearest hundred

1b. Which number is the odd one out
when rounded to the nearest hundred
thouwsand and rounded to the nearest ten

one

thousand? Explain your answers. thousand? Explain your answers.
. -
Two million, four hundred [ ] Sixx million, five hundred [ ]
and fifty -three thowsand, 2,513.DCLXXIV and forty-five thowsand. 6,545, DCCLXXXIX
DCCHIY CCY
. .
Two million, fouwr hendred Six million. four hundred
2,364,CXXXI | | and ninety-five thousand. 6,551,222 | llion,
L . and ninety-one thouwsand,
fihree hundred and thiry - oVl

2a. Work out which child has which
number. Find two possible solutions.

2b. Work out which child has which
number. Find two possible solutions.

aas3.cov || a506.coxuv ||

4510361 ||[2.504,00000v]( 2.504.499 |[(2.004.cMxcix]

To the nearest hundred
thovsand, my number
rounds to four and a half
millicn.

To the nearest millicn,
my number rounds to
- taro millicn.

Andrew

To the nearest ten

million.

thowsand. my number

To the nearest million.
s v my nrnnL-:}rEr::;::}l;ndE ta SR rounds fo two and half

Fippa
To the nearest ten
thousand, my number
rounds fo 4,510,000,

To the nearest thousand,
my number rounds to
twe million, frve hundred
and five thousand.

He says,

3a. Hamison is rounding numbers.

She says,

3b. Abigail is rovnding numbers.

(o

¥ ¥

| think that 4,505, CMXCIl rounded to
the nearest hundred thouvsand and

rounded to the nearest ten thousand

makes the same number.

Is he comect? Explain your answer.

-

| think that rounding six million, thirby

thousand, DCCXLIl to the nearest ten
thouvsand and thouvsand makes

6,030,000 both times.

Is she comect? Explain your answer.




